
NOTES:
1. REF 3D CAD DATABASE FOR DIMENSIONAL INQUIRIES
2. ALL PARTS TO BE FREE FROM SHARP EDGES (DEBURR)
3. INK STAMP, ETCH, OR STAMP FINISHED PART # AND REV
ON INSIDE SURFACE OF PART

28.37

29.14

13.62

3.01

11.81

10.76
REF. DOOR OPEN

11.10

32.90

12.79

4.50

9.00

5.91

12.19

15.37

⌀.395 (6X) FOR 3/8" BOLT

10.77

REV ECN CHANGE DESCRIPTION ENGINEER  DATE APPROVED

A BRO Nov-14-22 CJ

NXT POWER PART NO. NPTU 2.2-10.0 KVA MATERIAL: NA

DESCRIPTION: INTEGRITY MAX NPTU 2.2-10.0 KVA 
SEISMIC ANCHORAGE SPECS

FINISH: NA                

INITIATOR: BRO REVISION: A SIZE: D SCALE: 0.143 PAGE: 1 of 3

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN DECIMAL INCHES
TOLERANCES
ANGULAR: MACHINED ±0.5° BEND ± 1°
ONE PLACE DECIMAL: ±.03
TWO PLACE DECIMAL: ±.010
THREE PLACE DECIMAL: ±.005
BREAK SHARP EDGES: .01-.02R

NXT POWER INTEGRITY MAX 
NPTU 2.2 - 10.0 KVA ONLINE UPS

- CENTER OF GRAVITY

FRONT

REAR

UNIT WEIGHT: 350 LBS MAX

3W LINE CORD
REF. 8.0'

M8 CLASS 8.8 (4X)

CIRCUIT BREAKERS
RIGHT: POWER (AC)
LEFT: BATTERY (DC)

⌀

± ° ± °
±
±
±



REV ECN CHANGE DESCRIPTION ENGINEER  DATE APPROVED

 A BRO Nov-14-22

NXT POWER PART NO. NPTU 2.2-10.0 KVA MATERIAL:  

DESCRIPTION: INTEGRITY MAX NPTU 2.2-10.0 KVA 
SEISMIC ANCHORAGE SPECS

FINISH:                  

INITIATOR: BRO REVISION: A SIZE: D SCALE: 0.125 PAGE: 2 of 3

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN DECIMAL INCHES
TOLERANCES
ANGULAR: MACHINED ±0.5° BEND ± 1°
ONE PLACE DECIMAL: ±.03
TWO PLACE DECIMAL: ±.010
THREE PLACE DECIMAL: ±.005
BREAK SHARP EDGES: .01-.02R

NPTU 2.2-10.0 KVA 
SEISMIC ANCHORAGE
SLAB ON GRADE
 
BOLT TORQUE SPEC: 
3NM / 27 IN LBS
UNIT WEIGHT: 350 LBS MAX

INTEGRITY MAX SEISMIC ANCHORING INSTRUCTIONS:
 
1) MOVE THE UPS TO THE INSTALLATION LOCATION
2) ATTACH UPS SEISMIC ANCHORS (2X) NXT PART NUMBER 001-00021-01-FNL
USING M8 CLASS 8.8 BOLTS AND WASHERS (4X) AND TORQUE TO 27 IN LBS.
THESE BOLTS AND WASHERS ARE PROVIDED AND INSTALLED WITH SHIPPING BRACKETS OF THE UPS.
3) BOLT THE UPS TO THE FLOOR USING 3/8" GRADE 8 EXPANSION ANCHORS (6X) FOR CONCRETE AS DESCRIBED BELOW.

3/8" EXPANSION ANCHOR GRADE 8 (6X)
(MINIMUM EMBED. = 2.5")

NORMAL WEIGHT CONCRETE AT OR BELOW GRADE LEVEL

M8 CLASS 8.8 (4X)

± ° ± °
±
±
±



REV ECN CHANGE DESCRIPTION ENGINEER  DATE APPROVED

 A BRO Nov-14-22

NXT POWER PART NO. NPTU 2.2-10.0 KVA MATERIAL:  

DESCRIPTION: INTEGRITY MAX NPTU 2.2-10.0 KVA 
SEISMIC ANCHORAGE SPECS

FINISH:                  

INITIATOR: BRO REVISION: A SIZE: D SCALE: 0.125 PAGE: 3 of 3

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN DECIMAL INCHES
TOLERANCES
ANGULAR: MACHINED ±0.5° BEND ± 1°
ONE PLACE DECIMAL: ±.03
TWO PLACE DECIMAL: ±.010
THREE PLACE DECIMAL: ±.005
BREAK SHARP EDGES: .01-.02R

NPTU 2.2-10.0 KVA 
SEISMIC ANCHORAGE
UPPER FLOOR
 
BOLT TORQUE SPEC: 
3NM / 27 IN LBS
UNIT WEIGHT: 350 LBS MAX

INTEGRITY MAX SEISMIC ANCHORING INSTRUCTIONS:
 
1) MOVE THE UPS TO THE INSTALLATION LOCATION
2) ATTACH UPS SEISMIC ANCHORS (2X) NXT PART NUMBER 001-00021-01-FNL
USING M8 CLASS 8.8 BOLTS AND WASHERS (4X) AND TORQUE TO 27 IN LBS.
THESE BOLTS AND WASHERS ARE PROVIDED AND INSTALLED WITH SHIPPING BRACKETS OF THE UPS.
3) BOLT THE UPS TO THE FLOOR USING 3/8" GRADE 8 EXPANSION ANCHORS (6X) FOR CONCRETE AS DESCRIBED BELOW.

3/8" THREADED RODS GRADE 8
THRU FLOOR (6X)
(HOLE DIAMETER NOT MORE
THAN 1/16" LARGER THAN BOLT
DIAMETER MAX)

STRUT BENEATH FLOOR
(BY STRUCTURAL ENGINEER OF RECORD)

M8 CLASS 8.8 (4X)

± ° ± °
±
±
±


	Sheet 1
	Views
	new_view_1
	right_2
	right_8
	top_9

	Zones
	F8
	F7
	F6
	F5
	F4
	F3
	F2
	F1
	E8
	E7
	E6
	E5
	E4
	E3
	E2
	E1
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1


	06f2b41e-8198-460a-a8c7-16c32d527080.pdf
	Sheet 1
	Views
	new_view_1
	right_2

	Zones
	F8
	F7
	F6
	F5
	F4
	F3
	F2
	F1
	E8
	E7
	E6
	E5
	E4
	E3
	E2
	E1
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1



	e529715c-8c38-4f23-b361-2314cfe0c732.pdf
	Sheet 1
	Views
	new_view_1
	right_2

	Zones
	F8
	F7
	F6
	F5
	F4
	F3
	F2
	F1
	E8
	E7
	E6
	E5
	E4
	E3
	E2
	E1
	D8
	D7
	D6
	D5
	D4
	D3
	D2
	D1
	C8
	C7
	C6
	C5
	C4
	C3
	C2
	C1
	B8
	B7
	B6
	B5
	B4
	B3
	B2
	B1
	A8
	A7
	A6
	A5
	A4
	A3
	A2
	A1




